DNA Replication & Protein Synthesis Practice
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Label everything you can (I can think of at least 6 things) on this DNA molecule: 

In each of the statements below, something is incorrect.  Find the mistake and correct it:

1) Cytosine, guanine, thymine and adenine are the four phosphates in a DNA molecule.

2) DNA is in the shape of a helix.

3) A nucleotide is made of a sugar, phosphate and two nitrogen bases.

4) Replication is performed after cell division.
5) Adenine always pairs with guanine.

6) A weak but stable hydrogen bond holds the phosphate and sugar together,

7) The sides of the DNA molecule are made up of alternating nitrogen bases and sugars.

8) During transcription, both strands of the original DNA molecule are copied and sent from the nucleus to the ribosomes.

9) When building a mRNA molecule during translation, uracil is used instead of thymine.

10)  Replication results in two new identical strands of DNA which are sent to the  

        ribosomes to be translated into proteins.

